
lg)F{o g+=1M o; gu/kflnsfaf^ cf=j=072.73 /fhZj k/fdz{ ;ldltaf^ lgw{/)f ul/Psf  b]xfosf s/sf 

b/x? g=kf=af]*{df cfj:os lg)f{osf] nflu l;kmf/L; ug]{ lg)f{o ul/of] . 

 
l;=g ljj/)f gof s/÷z'Ns÷b:t"/ 

1_ l;kmfl/;  

1= gftf k|dfl)ft 150.0 

2= /fxbfgL l;kmfl/; 300.0 

3= #/hUuf gfd;f/L÷xsjfnf k|dfl)ft  

 jf]*{n] lgwf{)f u/] cg";f/ 500.0, 300, 100 k|lt /f]kgL 

4= #/ sfod l;kmfl/; 300.0 

5= k]G;g sf*{ jf ;f] ;DaGwL cGo l;kmfl/; 300.0 

6= xsjfnf ;+/If)f ;DaGwL l;kmfl/; 200. 

7= ;+# ;+:yf btf{ ;DaGwL l;kmfl/; 500.0 

8= lghL ljBfno btf{ / :t/ a[l$-k|flj÷lgdfjL÷dfjL_ 600.0, 800.0, 1,000.0 

9= sf& bfp/f]sf] l;kmfl/; 3,00.0 

10= c+u|]hL ?kfGt/ 3,00.0 

11= j+zhsf] gful/stf ;DaGwL l;kmfl/; 1,00.0 

12= c+lus[t gful/stf ;DaGwL l;kmfl/; 5,00.0 

13= gfd %"^sf] l;kmfl/; 1,00.0 

14= rf/ lsNnf k|dfl)ft l;kmfl/;  3,00.0 

15= ;gfvtsf] l;kmfl/; 2,00.0 

16= hGd d[To" ;DaGwL l;kmfl/; 1,00.0 

17= :yfoL a;f]af; ;DaGwL l;kmfl/; 1,50.0 

18= gfd, y/, hGd ldlt ;+zf]wg l;kmfl/; 1,00.0 

19= ;h{ldg z"Ns 5,00.0 

20= cldg z"Ns 2,000.0 

21= ljB"t h*fg ;DaGwL l;kmfl/;  

s_   cf/=;L=;L= kSsL #/ 3,00.0 

v_   cGo #/ 2,00.0 

22= ^]lnkmf]g h*fg ;DaGwL l;kmfl/; 3,00.0 

23= lghL wf/f h*fg ;DaGwL l;kmfl/; 3,00.0 

24= rfl/lqs l;kmfl/;  3,00.0 

25= Knl^ª ;]jf z"NsM2 /f]kgL;Dd, ;f] eGbf dfly 5 /f]kgL;Dd 

k|lt 1 /f]kgL / ;f]eGbf a(L k|lt 1 /f]kgL 

25,000.0, 10,000.0 / 

5,000.0  

26= ljB"t, ^]lnkmf]g, vfg]kfgL ;DaGwL gfd;f/L l;kmfl/; 300.0 

27= pBf]u :yfkgf l;kmfl/;  300.0 

28= ejg lgdf{)fsf] ;fwf/)f :jLs[lt ;DaGwL l;kmfl/; 500.0 

29= %fqj[lQ ;DaGwL l;kmfl/; lgz'Ns 

2_ cGo b:t'/  

1 lgj]bg kmf/fd k|lt kfgf 20.0 

2 cg";'rL 20.0 

3 lgj]bg btf{ z'Ns 20.0 

4 ejg lgdf{)f b/vf:t kmf/fd 1,000.0 

5 klt kTgL ;DaGw ljR%]b lgj]bg b:t"/ 500.0 



6 hGd, d[t, j;fO{;/fO{ / ;DaGw ljR%]b ljnDj b:t"/ 50.0 

7 k/LIff ;DaGwL b/vf:t kmf/fd z'Ns 50.0 

8 sf] ]̂zg kmf/fd z'Ns   cfly{s lgodfjnL cg";f/ 

9 ^])*/ kmf/fd z'Ns   cfly{s lgodfjnL cg";f/ 

10 lgj]bg gSsn k|lt kfgf  sfof{non] 7.0 cfkm}n] 5.0 

11 #/kfn"jf s"s"/ btf{ / gjLs/)F b:t"/ 100.0 

12 e?jf aGb"s gjLs/)f b:t"/ lhNnf e/ 50.0 clw/fHo 100.0 

13 #/ lgdf{)f gSzfsf] gSsn b:t"/                  300.0 

14 ldnfkq b:t"/ k|lt kIf 300.0 

gf]^M cfly{s ;xfotf, bLg b"MvL x?sf] xsdf gu/ k|d"v÷sfo{sf/L clws[tsf] tf]s cfb]z cg";f/ lgz'Ns 

;]jf k|bfg ug{ ;lsG% . 

3_ x}l;ot k|dfl)ft  

s_ C)f / j}b]lzs /f]huf/sf nflu  

1= ?=10 nfv ;Dd 1,000.0 

2= ?=20 nfv ;Dd 2,000.0 

3= ?=30 nfv ;Dd 3,000.0 

4= ?=40 nfv ;Dd 3,500.0 

5= ?=50 nfv ;Dd 4,000.0 

6= ?=50 nfveGbf a(L k|To]s 10 nfvdf  500.0 sf b/n] yk x'b} hfg] 

v_ cWoogsf] nflu  

1= ?=20 nfv ;Ddsf] ?=1000.00 1000.0 

2= ?=30 nfv ;Ddsf] ?=1500.00 1,500.0 

3= ?=50 nfv ;Ddsf] ?=2500.00 2,500.0 

4= ?=50 nfveGbf a(L k|To]s 10 nfvdf 200.0 k|lt 10 nfv sf b/n] 

u_ c+zj)*f / bfgas;df 150. 

#_ gu/kflnsfn] tTsfn lwtf] d'Nof+sg u/]sf] l;kmfl/;sf] k"gM gjLs/)f ug'{kbf{ h"g k|of]hgsf nflu 

ul/Psf] xf] ;f]sf nflu nfUg] b:t"/sf] 10 k|ltzt /fhZj lnOg]% . 

4_ aflif{s ;jf/L s/  

1= a;, ^«s, nx/L 1,000.0 

2= ldgLa;, ^«s -% kf+u|]_ 600.0 

3= ldgLa;, ^«s -rf/ kf+u|]_ 500.0 

4= ef*fsf] sf/hLk 200.0 

5= lghL sf/, Eofg, lhk, lksck 500.0 

6= \̂ofS^/ &'nf]] 40 xif{kfj/ eGbf dfly 500.0 

7= \̂ofS^/ ;fgf]] 40 xif{kfj/ eGbf ;fgf] 300.0 

8= :s"^/ df]^/;fOsn 100.0 

9= &]nf tyf l/S;f 100.0 

10= ;kmf ^]Dkf] 200.0 

11= uf]? uf*f 50.0 

12= kfj/ ^]n/ 200.0 

13= nf]*/, *f]h/ / PS;fe]̂ / -Eofs"d_ 2,000.0 

5_ k^s] ;jf/L s/  

1= a;, ^«s 0.0 
2= nx/L -6 ^fo/eGbf a(L_ 0.0 



3= \̂ofS^/ &"nf] -40 xif{kfj/eGbf a(L_ 0.0 
4= ldgL a;, ^«s 0.0 
5= \̂ofS^/ ;fgf] -40 xif{kfj/eGbf #^L_ 0.0 
6= lghL sf/, ef*f sf/ 0.0 
7= \̂ofDkf] 0.0 
8= vRr/ uwf 0.0 
9= ljb]zL a; ^«s 0.0 
10= ljb]zL nx/L -6 ^fo/eGbf a(L_ 0.0 
11= ljb]zL ldgL a;, ^«s 0.0 
12= ljb]zL sf/ / \̂ofS;L 0.0 
6_ k|fs[lts ;fwg pkof]u s/  

1= lu^L ('+uf -k|lt x]eL ^«s_ 500.0 

2= lu^L ('+uf -k|lt ldgL ^«s_ 400.0 

3= lu^L ('+uf -k|lt ^\ofS^/_ 200.0 

4= jfn"jf -k|lt ^«s_ 300.0 

5= sl^ª ('+uf -k|lt ^«s_ 2,500.0 

6= %kgL ;fbf (''+uf -k|lt ^«s_ 2,000.0 

7= sl^ª ('+uf  2,000.0 

8= %kgL ;fbf (''+uf 1,000.0 

9= sfnLdf^L / /ftf] df^f] -^«s_ 200.0 

10= sfnLdf^L / /ftf] df^f] - \̂ofS^/_ 100.0 

11= sfnLdf^L / /ftf] df^f] -kfj/ ^]n/_ 50.0 

7_ sfGhL xfp; b:t'/  

1= ufO{ uf]? k|lt uf]^f 100.0 

2= e}+;L /fuf k|lt uf]^f 200.0 

3= #f]*f vRr* k|lt uf]^f 200.0 

4= ;"u"+/ a+u"/ k|lt uf]^f 200.0 

5= afv|f e]+*f k|lt uf]^f 100.0 

gf]^M1= sfGhL xfp;df kz" /fVbf #f+;kfgL k/fnsf] vr{ ;DalGwt kz" wgLn] g} Joxf]g"{kg]{%  

2= 

sfGhL xfp;df kz" ;dftL y"Gg] sd{rf/LnfO{ 25 / cGo JolQmnfO{ 35 k|ltzt k"/:sf/ :j?k 

lbOg]%  

3= sfGhL xfp;df y"g]sf] kz" ;f]xL lbg lng gcfPdf k|ltlbg 10 k|ltztsf b/n] yk hl/jfgf nfUg]% 

/ cGosf] xsdf :jfoQ zf;g P]g 2055 cg";f/ x"g]% 

4= 

sfGhL xfp;df kz" ;dftL y"g]kl% ;f] kz"nfO{ x]/rfx ug]{ sd{rf/LnfO{ 15 k|ltzt yk ;"ljwf 

lbOg]% .  

8_ 

;/;kmfO{ z"Ns -;fljs uf=lj=;= %bfsf] z'Nsdf 25 k|ltzt 

yk ul/Psf]_ 

 

1= lgoldt ?kdf ;/;kmfO{ x"g] If]qdf dfl;s 250.0 

2= cf+l;s ?kdf ;/;kmfO{ x"g] If]qdf dfl;s 125.0 

3= &'nf xf]^n, gfO{, xl:k^n tyf lSnlgs Joj;fox?sf] dfl;s 500.0 

9_ ;S;g ^\of+s / nf]*/ l^k/sf] ef*f  

1= ;S;g \̂of+s g=kf=If]qleq k|To]s k^s / k|lt ^\of+s/ 2,500.0 

2= ;S;g \̂of+sg=kf=If]q afxL/ k|To]s k^s / k|lt \̂of+s/ 5,000.0 

3= nf]*/ k|lt #)^f 2500.0 



4= l^k/ k|lt #)^f 1000.0 

5= \̂ofS^/ k|lt #)^f 800.0 

6= 

;]lK^s ^\of+s k|of]hgsf nflu ^\ofS^/ k|of]u u/]df k|lt 

\̂ofS^/ 

 

gf]^M ef*fdf n}hfg] JolQm÷;+:yfn] OGwg vr{, rfnssf] ?=500 / 

x]Nk/sf] ?=300. eQf ;d]t Joxf]g"{kg]{% . ;fy} pQm ;fwg 

ef*fdf n}hf+bf sfof{noaf^ lx+*]sf] ;do / cfOk"u]sf] ;do 

PstkmL{ ;do dfq u)fgf ul/g]% .  

OGwg vr{M500.0 

rfns / x]Nk/ eQf 500.0 / 

300.0 

g=kf jflx/f 800.0 x'g]% . 

10_ lj!fkg b/  

1= ;fOgjf]*{, Unf]jf]*{, :^n cflbdf 25 ju{km"^ eGbf dfly 800.0 

2= ;fOgjf]*{, Unf]jf]*{, :^n cflbdf 25 ju{km"^ ;Dd 500.0 

3= t"n Jofg/ Ps xKtfsf] nflu  50.0 

4= t"n Jofg/ Ps xKtf eGbf a(L 100.0 

11_ dgf]/~hg s/  

1= :jfoQ zf;g P]gsf] bkmf 141 tyf cg";'rL 17 df pNn]v eP cg";f/ s/ lng]  

12_ ;jf/L kfls{ª z'Ns  

1= &'nf ;jf/L ;fwg k|lt #)^F 10.0 

2= ;fgf ;jf/L ;fwg k|lt #)^F 5.0 

13_ k^s] Joj;fo s/  

  jxfn la^f}/L  jf  Joj;fo s/sf] ;'rLdf k/]sf s/bftfafx]s gu/kflnsf If]qleq jf aflx/af^ 

;jf/L ;fwg jf dflg; cfkm}n] kf]sf jf emf]nfdf ;fdfg /fvL g=kf= If]qleq #'dfP/ laqmL ug]{ jf 

g=kf= IF]qleq /x]sf] gbLdf ko{^sLo b[li^sf])Fn] /\ofkm\l^ª ug]{x?sf nflu lgDg cg';f/ s/ lng] 

1= km]G;L / v"b|f ;fdfg uf*Låf/f #"dfP/ a]Rg]x?sf nflu k|ltk^s  50.0 

2= vfBfGg ;fdfg uf*Låf/f #"dfP/ a]Rg]x?sf nflu k|lt k^s 30.0 

3= cfn" / t/sf/L uf*Låf/f #"dfP/ a]Rg]x?sf nflu k|lt k^s 20.0 

4= 

kf]sf jf emf]nfdf ;fdfg /fvL df]^/ ;fOsn jf dflg; cfkm}+n] 

a]Rg] k|lt k^s  20.0 

5= gbLdf /\kml^ª ug]{ ko{̂ sx?nfO{ k|lt JolQm k|lt k^s  50.0 

6= /f+uf, e}+;L a+u"/ k|ltuf]^f  20.0 

7= v;L af]sf k|lt uf]^f 10.0 

8= xf+;, s"s"/f / cGo kIfL k|lt uf]^f 5.0 

gf]^ 

*f]sf / *fnfdf t/sf/L tyf kmnk'mn /fvL ahf/df #"dfP/ 

a]Rg] ls;fgx?sf] xsdf k^s] Joj;fo s/ lnOg] %}g   

14_ #/ axfn s/   

1= ;+# ;+:yf, ;/sf/L sfof{no, uf]bfd ef*fdf lbg] 2 k|ltztsf b/n] 

2= cGo k|of]hgsf] nflu 1 k|ltztsf b/n] 

15_ Joj;fo s/sf] b/ 
s|=;+= Joj;fosf] ljj/)f   s/sf] >])fL -s_   s/sf] >])fL -v_  s/sf] >])fL -u_ 

  :t/ s v u 

1_ ko{^g pBf]u    

1 xf]d:^] 300.0   

2 xf]^n, nh Pj+ ;fwf/)F xf]^n 1500.0 1000.0 500.0 

3 /] "̂/]G^ -dMd, tf;, ;]s"jfcflb_ 1,000.0 500.0 300.0 

2_ Jofkfl/s j:t'    



1 vfBfGg, ls/fgf l*n/ / v"b|f 1500.0 1000.0 5000.0 

3 sk*f k;n -yf]s Pj+ v"b|f_ 800.0 500.0 300.0 

4 cfon kDk 1500.0   

5 

ljB't ;fdfg tyf ljB'tLo 

;fdu|L l^=eL=, #*L /]l*of] 

laqmL 1000.0 500.0 300.0 

6 

x]eL OlSjkd]G^ a;, ^«s, sf/ 

df]^/ ;fO{sn, ^]Dkf], ;fO{sn 

dd{t sf/vfgf tyf ^fo/ dd{t 

s]Gb| 1000.0 800.0 500.0 

7 lgdf{)f ;fdfu|L 2,000.0 1500.0 1,000.0 

8 ;"grf+bL k;n -Hj]n]/L_ 1000.0 800.0 500.0 

9 km]G;L k;n 1500.0 1000.0 500.0 

10 pgL wfuf] k;n 500.0 400.0 300.0 

11 h"Qf rKkn k;n 800.0 500.0 300 

12 ;lkª ;]G^/ 1000.0 800.0 500.0 

3_ cGo ;]jf    

1 ljljw >[#f/ k;n -yf]s÷v'b|f_ 800.0 500.0 300.0 

2 kmgL{r/ k;n 1200.0 1000.0 800.0 

3 ef+*f / lukm\̂  k;n-yf]s÷v"b|f_ 1,000.0 800.0 500.0 

4 s]j"n, g]^jls{ª  5000.0   

5 k"njf]*{ -k|lt jf]*{ ?=400.00_    

6 

lel*of] u]d-k|lt l:s|d 

?=200.00_    

7 k":ts tyf klqsf k;n 700.0 500.0 300.0 

8 

g;{/L / kmnkm'nsf lj?jf 

laqmLljt/)f 400.0 300.0 200 

9 ;:yfut k]G^/ 2000.0   

10 t/sf/L k;n 300.0 200.0 100 

11 jLh e)*f/ 500.0   

12 df;" k;n 800.0 500.0 200.0 

13 sk*f l;nfO{ 800.0 500.0 300 

14 x]o/ sl^ª 300.0   

15 cf^{ 300.0   

16 kmf]^f] :^"l*of] 800.0 500.0 300 

17 /+u/f]ug k;n 1000.0 800.0 500.0 

18 rZdf k;n 500   

4_ dd{t ;+ef/    

1 

/]l*of] l^=le #*L, k|]z/ s's/, 

lx^ ^]nLkmf]g ;]^ k+vf tyf 

:^f]e, ljB't ;fdu|L dd{t s]Gb| 800.0 500.0 300.0 

2 

x]eL OlSjkd]G^ a;, ^«s, sf/ 

df]^/ ;fO{sn, ^]Dkf], ;fO{sn 

dd{t sf/vfgf tyf ^fo/ dd{t 1,000.0 800.0 500.0 



s]Gb| 

5_ ;]jf pBf]u    

1 *fOleª OlGi^Ro"^ 800.0   

2 rnlrq dlGb/ 1000.0   

3 Nofa tyf kmf]^f] u|flkm 1000.0 800.0 500.0 

4 %fkfvfgf 1,000.0 800.0 500.0 

6_ s[lif tyf jghGo pBf]u    

1 

s[lif jf jg k}bfjf/df cfwfl/t 

pBf]u Joj;fo, kmgL{r/ pBf]u 

cfbL 1000.0 800.0 500 

7_ phf{d'ns    

1 

jfof] Uof; tyf ;f}o{ k|ljlw / 

cGo >f]tx? 1000.0   

8_ pTkfbg d'ns pBf]u    

1 kfp/f]^L e)*f/ 800.0 500.0 300 

2 ldn 800.0 500.0 300.0 

3 cfO;lqmd pBf]u tyf k;n 800.0 500.0 300.0 

9_ ljQLo ;]jf    

1 ljQLo ;+:yf / ;xsf/L ;+:yf 1500.0 1000.0 500.0 

2 /]ld^]G; ;]jf 1500.0   

10_ :jf:Yo ;]jf    

1 lghL tyf u}/;/sf/L c:ktfn 1500.0 1000.0 800.0 

2 gl;{ª xf]d 2,000.0 15,00.0 1,000.0 

3 lSnlgs tyf Nofj        8,000.0 5000.0 3000.0 

4 bf+t agfpg] k;n 5,00.0   

11_ lzIff ;]jf    

1 

lg=lh If]qsf af]l*{ª :s'n 

SofDk; p=df=lj df=lj= / 

k|f=lj= 2000.0 1500.0 1000.0 

2 

^fO{lkª, sDKo"̂ / tyf efiff 

k|lzIf)f ;+:yf 1000.0   

3 

l;nfO{{, a"gfO{, k]lG^ª, sl^ª 

k|lzIf)F 1000.0 800.0 500.0 

4 ^]lSgsn OlGi^Ro'^ 1000.0   

12_ 

lgdf{)f Joj;foL gu/kflnsfdf 

k|wfg sfof{no ePsf] lgdf{)f 

Joj;fodf s, v, u, # 5,000.0 2,000.0 1,000.0 

13 ;+rf/ ;]jf    

1 

lghL If]qsf s"l/o/, 

km\ofS;,Od]n, OG^/g]^ / 

^]lnkmf]g 500.0   

     

13_ 

ljz]if! d/fdz{ tyf cGo 

Joj;flos ;]jf    



1 

lrlsT;s ljz]if! -

:jf=;xfos,slj/fh_ 500.0 300.0 200.0 

2 n kmd{   500.0 

3 

sG;N ]̂G;L kmd{ -OGhLlgo / 

cf]=_ 5000.0   

4 Hof]lt; 500.0   

5 cl*^/ kmd{ -s v u #_ 1000.0 800.0 700.0 

14_ cGo Joj;fo    

1 sjf*L ;fdfgsf] yf]s laqm]tf 2000.0   

2 ^])^ xfp; 1,000.0 800.0 500.0 

3 nfp)*L k;n 500.0   

4 dfbn k;n 300.0   

5 df^f]sf] ef+*f agfpg] 300.0   

6 ld&fO{ k;n 800.0 500.0 300.0 

15_ ;f= pBf]u    

1 sl^ª ('+uf pBf]u 1,000.0   

2 O \̂̂ f e \̂̂ f 1000.0   

3 lu|n pBf]u 1500.0 10,00.0 500.0 

4 cGo pBf]u 1,500.0 1,000.0 500.0 

5 Ans pBf]u 1000.0   

 

16_ rf/ lsNnf l;kmfl/; 

 

qm=;+= 

 

hUufsf] If]qkmn hUufsf] ljj/)f 

/fhdfu{ zfvf 

lkr 

u|fj]n sRrL af^f] gePsf] 

1 1 cfgf b]vL 10 cfgf ;Dd 300.0 200 75.0 30.0 10.0 

2 10 b]lv 1 /f]kgL ;Dd 280.0 170.0 60.0 20.0 8.0 

3 1 /f]kgL b]lv 2 /f]kgL ;Dd 270.0 160.0 50.0 15.0 6.0 

4 2 /f]kgL eGbf dfyL 260.0 150.0 40.0 12.0 5.0 



17_ #/ jf^f] l;kmfl/; 

 

 

 

18= #/ gSzfkf; b:t'/  

c_ #/gS;f kf; ;DaGwL b:t'/  

l;= 

g+= 

 

ef}lts ;+/rgfsf] ljj/)f 

s/sf] b/ -k|lt j=kmL=_ 

g]=?=df 

gS;fkf; If]q 

s v u 

1= cf/= ;L= ;L= k|m]d :^|\Sr/       

s_ e"ldut tnf 5.0 4.0 3.0 

v_ eO{ tnf 5.0 4.0 3.0 

u_ klxnf] tnf  6.0 5.0 4.0 

#_ bf]>f] tnf 7.0 6.0 5.50 

ª_ t]>f] tnf / t]>f] tnf eGbf dfyL 15.0 10.0 8.0 

2. l;d]G^sf] hf]*fO{df O^f jf (+'ufsf] uf/f] -Go'gtd 23 

;]=dL= df]^fO{_ cf/=;L=;L= ^fon h:tfkftf %fgf  
3.0 2.0 1.0 

3= df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f] -Go'gtd 23 

;]=dL= df]^fO{_ cf/=;L=;L=, h:tfkftf%fgf  
2.50 1.50 1.0 

4= df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f] -Go'gtd 23 

;]=dL= df]^fO{_ jf l;d]G^sf] hf]*fO{df O^f tyf 

Anssf] uf/f] 10 b]lv 15 ;]=dL= df]^fO{ h:tfkftf, 

:n]^ %fgf  

2.0 1.75 1.0 

 

cf_ k"/fgf #/x?sf] xsdf gSzf lgoldtsf nfuL k|lt ju{ lkm^ dfyL pNn]lvt g} b/x?nfO{ sfod 

ug]{ . 

 

s_ gS;f kf; If]q s eGgfn] ;'Gb/jhf/ gu/kflnsf j*f g+= 1,,3,4,5,6,7,8, sf] ;x/L If]q / /fdfbL 

,kfplb, l;pl*jf/,vlq&f^L ;Ddsf] ;*ssf] bfof+ jfof+sf] If]q . 

v_ gS;f kf; If]q v eGgfn] j*f g+= 5,9, 10, 11, 12,13 sf] u|fj]n ;*s tyf u|fld)f If]q  . 

u_ gS;f kf; If]q u eGgfn] j*f g+= 1,2,6,9,10,11,12,13 / 14 sf] sRrL ;*s tyf u|fld)f If]q . 

 

qm=;+= 

 

hUufsf] If]qkmn hUufsf] ljj/)f 

/fhdfu{ zfvf lkr u|fj]n sRrL af^f] gePsf] 

1 1 cfgf ;Dd 300.0 200.0 100.0 50.0 20.0 

2 1 b]lv 5 cfgf ;Dd 1,500.0 1,000.0 500.0 250.0 100.0 

3 5 b]lv 10  cfgf ;Dd 2,500.0 2,000.0 1,200.0 1,000.0 800.0 

4 10 b]lv 1 /f]kgL ;Dd 4,000.0 3,000.0 2,000.0 1,500.0 1,200.0 

5 1 /f]kgL b]lv 2 /f]kgL ;Dd 5,500.0 5,000.0 4,000.0 3,000.0 2,000.0 

6 2 /f]kgL eGbf dfyL 7,000.0 6,000.0 5,000.0 4,000.0 3,000.0 


